
No wind, 75F, PA 550 (assume 600), 4200 lbs
Take-off Distance 2,500’ (assume 3,750’)

PA (ft) = ( 29.92 - AltSet.(in/hg) ) * 1000 + FieldElev.(ft)

No wind, 75F, PA 550 (assume 600), 4200 lbs
Take-off Distance 2,100’ (assume 3,000’)

Example



No wind, 75F, PA 550 (assume 600), 4200 lbs
Take-off Distance 1,400’ (assume 2,100’)

No wind, 75F, PA 550 (assume 600), 4200 lbs
Take-off Distance 1,250’ (assume 2,000’)

PA (ft) = ( 29.92 - AltSet.(in/hg) ) * 1000 + FieldElev.(ft)

Example



No wind, 75F, PA 550 (assume 600), 4200 lbs
Landing Distance 2,300’ (assume 3,500’)

No wind, 75F, PA 550 (assume 600), 4200 lbs
Landing Distance 1,900’ (assume 3,000’)

PA (ft) = ( 29.92 - AltSet.(in/hg) ) * 1000 + FieldElev.(ft)

Example



No wind, 75F, PA 550 (assume 600), 4200 lbs
Landing Distance 1,650’ (assume 2,500’)

No wind, 75F, PA 550 (assume 600), 4200 lbs
Landing Distance 1.310’ (assume 2,000’)

PA (ft) = ( 29.92 - AltSet.(in/hg) ) * 1000 + FieldElev.(ft)

Example



Assume Gross @ 4200
Accelerate & Stop = 2,700’

Example
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